Al A

SN AEUTYUBAANLA
HE: DYDBUSH 2Y
o9l ZZHS 29 (o) @)
SN - GA(SH) - NRAY - BES 0] a0t /IR HlRE2
AZAPYBAAL 5,260,118 5,548,9% £288,816
= 470,000 470,000 0
= 4,790,118 5,078,9% £288,816
DHBEUSH 29 2,112,991 2,294,426 A181,43
ZE%22 29 2,112,991 2,204,426 A181,435
NEREE 1,035,269 1,127,124 £91,8%
101 @118 414,089 505,924 £91,8%
VBIELEES=T=E 414,089 505,924 £91,8%
O=22 JIAH 22X 12| 335,820 427,655 £91,8%
OAIeI224Y A3 02 0 81,270 £81,270
o4 282 A 35,713 0002 3,713 46,278 A10,565
HEL 29 16,280 25,880 29,600
201 Yur2gy| 16,280 25,880 29,600
01 Al 22l 15,200 24,800 29,600
OMWEL: 2YSE 7Y 16,200 24,800 £9,600
OFXE RUPLMAIALY 2|8
A% 02 0 9,600 £9,600
LI SoHHUR BHE NRAL(2E) 0 80,000 280,000
201 2ur2gy| 0 30,000 230,000
01 Al 22l 0 30,000 230,000
OALFOOIS 2B HE 7Y
3% 02 0 10,000 210,000
OALTONRIS DRTH N LRI
A% 02 0 15,000 215,000
OJIEt 224 28 7Y S
A% 02 5,000 £5,000
401 AIEBI L= ThY| 50,000 50,000
01 A& 50,000 250,000
OSN0) B3R T2IY 7S
A 02! 0 50,000 250,000
AZARUTA B2 3,079,957 3,189,738 2109, 781
= 470,000 470,000 0
= 2,609,957 2,719,738 £109,781
2z 2o 3,079,957 3,189,738 £109,781
= 470,000 470,000 0
2 2,609,957 2,719,738 £109,781
2yza 29 338,867 37,128 A18,241
101 21218 244,237 262,478 A18,241
VBIELEES=T-E 244,237 262,478 A18,241
ox=xiz2l eIt 110,966 105,743 AT
OAIZteI224Y A3 o 0 14,777 AT
OOIZ&4D| LAIAI Q21| 13,4% 16,950 £3,484
OAeI2Z4Y A3 02 0 3,464 ~3,464
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